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HhigtEt HEEEE (BHr:[)

BEEE SEEREA) | HIFEEREB) [ #EA)-(B)
SEINE 7,241,000 7,516,000 A 275,000
SE N 7,241,000 7,516,000 A 275,000
K FtE U 4,704,426 4,658,669 45,757
FtE UL 4,704,426 4,658,669 45,757
REREHDESNE 59,969,000 59,234,000 735,000
X ETAH B £ IR EE 56,829,000 56,184,000 645,000
Bh R & IR EE 900,000 900,000 0
e HERIZEEE S EINE 2,240,000 2,150,000 90,000
B\ gz amas 94,822,025 75,465,600 19,356,425
T RXETA ZEEEINEE 89,892,025 71,038,100 18,853,925
A ZERFEHLIBZEESINEGE 4,930,000 4,427,500 502,500
FEINE 4,336,008 2,993,080 1,342,928
= R AR 2 1,000,141 1,172,080 A 171,939
) EANERERRE 3,335,867 1,821,000 1,514,867
NEREERNE 121,346,525 130,320,306| A 8,973,781
o) BEMNERUNE 74,271,859 78,210,046 A 3,938,187
i B A B IR A 26,101,930 30,450,810| A 4,348,880
% NEEFH - BEEEIEREEENG 14,192,606 15,582,033| A 1,389,427
12 FIRAEBESEN AHIREE 5,304,000 5,519,321 A 215,321
ZTDDEFEINE 1,476,130 558,096 918,034
o [EERL Y —EREEEINE 6,209,010 6,244,624 A 35614
B B X ERTEIE 6,097,410 5,919,430 177,980
MAFEEEESIRE 111,600 325,194 A 213,594
o 22X VE:S 2,869,237 1,222,738 1,646,499
Z Db D INEE 2,869,237 1,222,738 1,646,499
H—E REEIUEEET() 301,497,231 287,655,017 13,842,214
e AN4EE 224,696,404 217,066,477 7,629,927
% B R 1,403,000 1,501,000 A 98,000
iEA=F S 88,326,510 83,341,500 4,985,010
BEEFY 10,553,005 10,981,163 A 428,158
BEES 35,165,174 34,040,930 1,124,244
& FEEEHHBEHRE 48,107,517 47,521,089 586,428
RIS 1T E A 16,308,445 16,198,430 110,015
EERMNE 24,832,753 23,482,365 1,350,388
=) 56,446,519 57,557,268 A 1,110,749
Bt 605,285 720,645 A 115,360
REXAEE 752,949 519,564 233,385
SIGEP Ny 350,131 474,061 A 123,930
) HERE 11,485,585 11,750,293 A 264,708
RiEHEE 348,967 293,913 55,054
WRE 167,291 234,070 A 66,779
BEREE 272,586 269,378 3,208
KERE 7,478,250 8,276,223 A 797,973
HERERRE 3,775,199 4,217,922 A 442,723
RIEF 1,561,408 1,609,790 A 48,382
EEH 3,498,412 3,186,668 311,744
HIRE 3,972,024 5,126,490 A 1,154,466
BRF & 3,512,374 3,824,847 A 312,473
BiEE 641,987 173,113 468,874
BIEERE 1,645,880 1,484,803 161,077
RiE 160,952 205,523 A 44571
[L3RE 1,604,916 1,549,152 55,764
EBERAE 14,310,581 13,326,560 984,021
ME 301,742 314,253 A 12,511
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EER B SEEREA) | HIFEEREB) [ #EA)-(B)
EBE 2,647,577 2,999,327 A 351,750
+ EAELEE 613,464 488,780 124,684
REXBE 430,578 1,018,883 A 588,305
| THEMRE 290,840 466,284 A 175,444
EHHERE 164,140 142,550 21,590
’ R & KE 0 20,196 A 20,196
g BEERE 520,760 557,116 A 36,356
=& 19,730 14,420 5,310
A LHEERE 236,170 0 236,170
HROER 30,600 0 30,600
& AN 10,000 5,000 5,000
e 331,295 286,098 45197
) HEASEESEEEE 2,229,008 2,149,090 79,918
—REEESEEEE 2,229,008 2,149,090 79,918
w | A |BIREEA 19,243,140 19,432,600 A 189,460
B & &M 19,243,140 19,432,600 A 189,460
H REEER 767,065 892,493 A 125,428
BiESEH 767,065 892,493 A 125,428
o R {EEE 1,083,295 1,420,593 A 337,298
R EEE 1,083,295 1,420,593 A 337,298
% ZTDitnEH 144,130 77,220 66,910
: ZTDHDNER 144,130 77,220 66,910
H—EREEEFAE2) 307,257,138 301,595,068 5,662,070
H—E R EEE R ZEZ(3)=(1)-(2) A 5759,907] A 13,940,051 8,180,144
Y SZHF RS SUNE 2,669,320 2,669,490 A 170
é i SZHF RE S S UNEE 2,669,320 2,669,490 A 170
2 Z DY —E R EENSMIEE 165,289 5,000 160,289
& | 2% IR 165,289 5,000 160,289
o) H—E R EEISMUREEETH(4) 2,834,609 2,674,490 160,119
2| & |[zotoy—ExEBHNER 5,798 17,125 A 11,327
- Ma% 5,798 17,125 A 11,327
» H—EREES EREG) 5,798 17,125 A 11,327
& H—E RiEENS B E EE(6)=(4)-(5) 2,828,811 2,657,365 171,446
R EZE(7)=(3)+(6) A 2931,096] A 11,282,686 8,351,590
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B 3 | 4ERIINEEEHE) 0 0 0
| g [BEEZEETHNE- 0518 4 0 4
b = HiERE SRS - W18 4 0 4
2 R E A9 4 0 4
# 4 ) H R 2 58(10)=(8)—(9) A4 0 A4
LRSI EL(1)=(7)+(10) A 2931,100] A 11,282,686 8,351,586
1% BIERAR R BNIBR EE(12) 38,190,240 46,220,437 A 8,030,197
# 2 A R AR E BB IR ZE(13)=(11)+(12) 35,259,140 34,937,751 321,389
g HEASIERE04) 0 0 0
” B S HRAHEE(15) 0 0 0
3 T Dt DI % B AR EE(16) 0 3252489 A 3252489
= RUAEEE TSNS 0 3252489 A 3252489
%8 ZRMDIELEIETEEUT) 0 0 0
» REASR A% E B 1 R 2 25(18)=(13)+(14)+(15)+(16)-(17) 35,259,140 38,190,240 A 2,931,100
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